
Multiplication par 0,01 (G)Trouvez chaque produit.
78 × 0,01 = 87 × 0,01 =
63 × 0,01 = 86 × 0,01 =
84 × 0,01 = 44 × 0,01 =
97 × 0,01 = 93 × 0,01 =
92 × 0,01 = 75 × 0,01 =
9 × 0,01 = 53 × 0,01 =
7 × 0,01 = 29 × 0,01 =
78 × 0,01 = 60 × 0,01 =
11 × 0,01 = 87 × 0,01 =
71 × 0,01 = 22 × 0,01 =
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Multiplication par 0,01 (G) SolutionsTrouvez chaque produit.
78 × 0,01 = 0,78 87 × 0,01 = 0,87
63 × 0,01 = 0,63 86 × 0,01 = 0,86
84 × 0,01 = 0,84 44 × 0,01 = 0,44
97 × 0,01 = 0,97 93 × 0,01 = 0,93
92 × 0,01 = 0,92 75 × 0,01 = 0,75
9 × 0,01 = 0,09 53 × 0,01 = 0,53
7 × 0,01 = 0,07 29 × 0,01 = 0,29
78 × 0,01 = 0,78 60 × 0,01 = 0,6
11 × 0,01 = 0,11 87 × 0,01 = 0,87
71 × 0,01 = 0,71 22 × 0,01 = 0,22
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